E¥F—SF 1J0vY

S AL FE- 515 M- R EH-AAH 5
vellow DoubleF: jlj_ TAC ThreeF-j'J— 9&
E e 6 - 1 6 - 3 6 - 3 1
TEEE |l 1 -6 5 -6 4 -6 8
M- BN _ } - _
TAC 3 6 6 5 0 6 8
- FAH
ThreeF-J!)— 3 -6 6 -4 6 -0 5
E¥r—8+F 270v0
KEF-BIR RIS A - IRA B -FK 5
ThreeF PAC SSKK TAC %
KEF- BB ) _ _
ThreeF 6 4 6 4 6 3 7
RS _ _ _
PAC = 4 6 6 2 5 6 1
A - IRA _ _ - _
SSKK 4 6 2 6 4 6 8
BIE-FK _ i -
TAC 3 6 6 5 6 4 0
E¥r—8+ 370v0
AR - /NEF N - PACAZRE YN R - 5
MMTC TAC HRTC yellow sox %
AR/ NEF ) } _
MMTC 6 2 5 6 6 3 6
N - _ _ B )
TAC 2 6 5 6 6 3 2
PACAERE Y N _ } -
FETC 6 5 6 5 5 6 1
HEBA |3 -6 3-6 6 -5 5

yellow sox




Exr—5F 47090

o EIRTER- SRR o | Er-E | NERE | RELE (1B g |9
MMTC J1)— J)— TAC fir %
Vi 6 - 4 6 -0 6 -3 | "
ET;EP% 4 -6 6 - 0 4 -6 |3 2
PERE | 0 -6 0-6 1-6 |4|o]3]m
RELE | 3 -6 6 - 4 6 - 1 2 4
E¥+—8F 570vY
A ﬁ@'gﬂ ) B EE’EU% C %ﬁ‘@'ﬁ”—l D ):Il_u-l'j(;}"; “E ??E_ll‘
DMLY ~F TAC otc PZvY-ThreeF ||{if 5
S ERLCN 6 -3 6 - 1 3-6 |2 5
ﬁf‘é"ﬂ"'ﬁ 3 -6 6 - 2 5 -6 |3 0
AEEL L -6 2 -6 4 -6 |4 A
e
TiI‘JyJ’J-%TEeF 6 -3 6 -5 6 -4 ! 6
Al - K%
7Y -ThreeF
6
3 AAH 1
ThreeF-2)— 4
BA - 6
DM ~F 6
RE-EiF 4
ThreeF 4 B - B
BRI - B2 FH 6 MMTC
MMTC 6
AAFR - 1\EF 4
MMTC 6
K- LA 2
TAC 4
&=-F5 6

vellow sox-DoubleFault




EXF—&F 1J0v7

o ERCBSE | o LS | R eE |t B 1 | o |8

ﬁj"ﬁ-lj— *gpi everyTC-AJIITC —1A v 5

il 6 - 1 5 -6 6 -2 |2 8

LSS 1 -6 1-6 6 -2 |3 6

;ﬁv;e}rtll{c{-%%m 6 -5 6 -1 6 -3 1 9

pezalll 2 -6 2 -6 3-6 alof3|n
C¥r—%F 27097

B A | glovkers |owoemn |5l (6] ]| e

J1)— 20297 20— [~ F)ITC JU—-#ETSY (i ES

A EA 6 - 4 6 - 4 2 -6 |2 0

ggﬁv?ﬁ— 4 -6 2 -6 2 - 6 4 -10

MEAM | 6 -2 6 - 2 6 - 4 : 10
E¥r—%F 3707

A ﬁ‘g ° ’?:21: B iEiI * m{% C lJ \*7F ° lJ \*% D Ezl: * 1??)? I | g %EII

WIS everyTC R J1)— fiz ES

ﬁ;ﬁ\a’%} 2 -6 3-6 2 - 6 4 my

BLLE | 6 -2 2 -6 2 -6 |3 4

g 6 -3 6 - 2 6 -4 |1 9

BRI | 6 -2 6 - 2 4 -6 2 6

jIJ_




Exr—zF 47090

=B EERO | |- ELt-FEA |iE =l

ThreeF-MMTC | B| k38 4R NTC fir %
'ﬁr;i;:%;}lv%c 5 -6 6 - 2 6 - 3 2 6
%gﬁ':' 6 -5 6 - 3 6 -2 |1 8
SthFR - 4 ) . _ ]
e 2 - 6 3-6 5 -6 |4 8
Bt -F| ) ) i ]
NTC 3-6 2 -6 6 -5 3 6
1IN - AH
=2y 0
ThreeF-MMTC 2
= 6
= 6
Eﬁg-ﬂﬁﬂ 4
AR 6 =PI

| | —
)1 s 5 7Y
everyTC-AJIITC
6

EA-EA >
J1)— 2
BRI - B 6
WSSt 3
1INFR - 1) ViE 6

R




